A3 Trial Balance and Financial Statements
Chapter 7 Financial Statements for Sole Proprietorships (l)
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Income Statement for the year ended 31 December 2008

Name :

Sales

Less Returns inwards

Cost of goods sold:

Opening inventory

Add Purchases
Carriage inwards

Less

Less Returns outwards

Less Closing inventory

Gross profit

Add Other revenues:
Discount received

Less Expenses:

Carriage outwards

Rent and rates

Salaries

Discount allowed

Sundry expenses

Net profit

Cost of goods sold

Cost of goods sold = Opening inventory + Purchases — Closing inventory

Opening inventory vs. closing inventory
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Carriage inwards vs. carriage outwards

# i8R AL S expense

Returns inwards
— Returns inwards a—jfﬂ oy R,

Carriage inwards £45 3 | SRR E W &
REDIE P €483 ~ cost of goods sold
carriage outwards njﬂ PR LEEBLE SRk o
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— Returnsinwards ¢ /i Sales * 4’
— Net sales = (Sales — Returns inwards)

Returns outwards

— Returns outwards £ 353w § 5%

R

— Returns outwards ¢ f_Purchases t‘ a‘r“,ﬁ% 0
— Net purchases = (Purchases + Carriage inwards — Returns outwards)

Class:

$ $ $
207,000
(3,450)
Netsales ----- » 203,550
6,500
142,600
1,950 _Net purchases
144,550 P
(2,100) 142,450
_v 148,950
et (5,400) (143,550)
-7 6,000
Cost of goods available for resale
3,500
63,500
1,330
15,650
26,000
2,200
1,700 (46,880)
16,620
ETENE N
Cost of goods sold
Opening inventory | increase increase
Purchases increase increase
Carriage inwards increase increase
Returns outwards | increase decrease
Closing inventory increase decrease

Cost of goods sold = Opening inventory + Net purchases — Closing inventory

Cost of goods sold = Opening inventory + (Purchases + Carriage inwards — Returns outwards) — Closing inventory




Gross profit

Gross prOfit or loss Sales increase increase
— Gross profit = (Sales — Returns inwards) — Cost of goods sold Returns inwards increase decrease
— Gross profit Cost of goods sold increase decrease
= (Sales — Returns inwards) — Opening inventory | increase decrease
[Opening inventory + (Purchases + Carriage inwards — Returns outwards) — Purchases increase decrease
Closing inventory] Carriage inwards increase decrease

— X417 ¢ FFH ¥ Jx » » Example:Interest received, Discounts received % ¥ - | Returns outwards | increase increase
— £ 1% & #£ ¥ 0 > Example: Rent » Electricity » Salaries % % o Closing inventory | increase | increase

Discounts allowed and discounts received

Cash discounts £ ip2>* 7 | #F (credit period) M & i © ZtehdTie o F &7 g3 qetk o
Cash discounts 4 % = f& > Discounts allowed and Discounts received °

Discounts allowed &_2 & ¥ fF i3 ¢f7 cash discounts » 44 4R & = & 7 Expenses
Discounts received &_F 3 ¥+ 2 & 1 Cash discounts > 4 4R & 2> & 7 Other revenues
Trade discounts & i5 « & o7 18 chdfde » % F R (m g 3h7etk o

Trade discounts ¢ 3% /%_Gross amount ¥ a‘r“,% » L ¥-Netamount i£ (7 § 3iedh U P2 R X EWHEP ki
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Net profit or loss

Bl

Net profit = Gross profit + Other revenues — Expenses

Net profit &dp S JF M §f F 18

Net profit :774& 383 ¥ +* Gross profit -
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The following information for the quarter ended 31 March 2022 is extracted from the books of Cherry’s business:
Movement of inventory: _Kg List price per kg Trade discount
$
Purchases 4,000 66.5
Damaged goods returned to supplier 200 66.5
Sales (wholesale) 2,000 180 25%
Sales (retail) 1,100 180 /
Other information: S
Wages and salaries 125,800
Printing and package expenses 10,150
Discounts given by suppliers for early settlement 9,825

(c)  Prepare anincome statement for the quarter ended 31 March 2022.




